
Homework 1 Grades

0 5 10 15 20 25 30

Score

1

2

3

4

5

6

7

8

Frequency Median = 26

low=0

high=30

Mean: 19.62
Median: 26
Standard Deviation: 10.97



Homework 2 Grades

0 5 10 15 20 25 30 35 40 45 50

Score

1

2

3

4

5

6

Frequency Median = 35

low=0

high=52

Mean: 30.53
Median: 35
Standard Deviation: 18.67



Homework 3 Grades

0 5 10 15 20 25 30

Score

1

2

3

4

5

Frequency Median = 16

low=0

high=28

Mean: 13.41
Median: 16
Standard Deviation: 7.62



Homework 4 Grades

0 5 10 15 20 25 30 35

Score

1

2

3

4

Frequency Median = 19

low=0

high=34

Mean: 18.47
Median: 19
Standard Deviation: 9.30



Midterm Exam Grades

5 10 15 20 25 30 35

Score

1

2

3

4

5

Frequency ←D ←C- ←C ←C+ ←B

low=5 high=37

Mean: 22.61
Median: 25
Standard Deviation: 8.14



Homework 5 Grades

0 5 10 15 20 25 30

Score

1

2

3

4

5

Frequency Median = 19

low=0

high=32

Mean: 19.76
Median: 19
Standard Deviation: 7.30



Homework 6 Grades

0 5 10 15 20 25

Score

1

2

3

4

5

Frequency Median = 11

low=0

high=25

Mean: 12.27
Median: 11
Standard Deviation: 6.88



Homework 7 Grades

0 5 10 15 20

Score

1

2

3

4

5

6

Frequency Median = 11

low=0

high=22

Mean: 10.15
Median: 11
Standard Deviation: 7.06



Homework 8 Grades

0 5 10 15 20 25 30

Score

1

2

3

4

Frequency Median = 20

low=0

high=30

Mean: 17.27
Median: 20
Standard Deviation: 9.20



Homework 9 Grades

0 5 10 15 20 25

Score

1

2

3

4

5

6

7

Frequency Median = 14

low=0

high=25

Mean: 12.12
Median: 14
Standard Deviation: 7.60



Extra Credit Grades

0 1 2 3 4

Score

1

2

3

4

5

6

7

8

9

10

11

12

13

Frequency Median = 1

low=0

high=3

Mean: 1.27
Median: 1
Standard Deviation: 1.19



Final Exam Grades

0 5 10 15 20 25 30

Score

1

2

3

Frequency Median = 19

low=0

high=30

Mean: 18.61
Median: 19
Standard Deviation: 8.06



Weighted Average Percentages

5 10 15 20 25 30 35 40 45 50 55 60 65 70

%

1

2

3

Frequency ←As←Bs←C+←C←C-←D←F

low=3 high=71

Mean: 45.79
Median: 47
Standard Deviation: 14.81

You can calculate your placement on the above curve by

0.03×

(
EC score

3
+

9∑
i=1

HWi score

HWi max

)
+0.35×Midterm score

50
+0.35×Final score

45


